
Exemplar Problem
Conic Section

 

									57.	The	eccentricity	of	the	hyperbola	whose	latus	rectum	is	8	and	conjugate	axis	is	equal	to	half	of	the	
distance	between	the	foci	is
								

									(a)	

								

									(b)

								

									(c)	

								

									(d)	None	of	these
								

									Ans:
								 
         Length of the latus rectum of the hyperbola
        

         

        

         Distance between the foci 
        

         Transverse axis 
        

         and Conjugate axis
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           [from eq. (i)]
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         ∴ Hence, the correct option is (c).
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